Questions 17 and 18
The complementary fonction of the differential eoquathon
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In each of the following cases, claose the eption which is the best function b0 use
as 2 trial solution in the method of Uuit 6 for findiny # particular solution of the
differential equation,
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Cuestions 19 to 21
The motion of an oscillating particle 12 given by

Tt} = 12 cos 2 — Ssin 24,

19 Choose the option which is the amplitude of the asciliations.
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2 Choose the option which is the phase of the cescillations.
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21  Choose the option which is the period of the oscillations.
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